DAILY BASIS ASSIGNMENT 17

DATE-8/5/2020 STD --7

Subject : English

Choose a suitable pronoun for the underlined words and rewrite the sentences:
1. I issued a story book from the library. The book is very interesting.
. He

. She

It

. They

. The boys practice cricket everyday. The boys have improved a lot.
. Them

. We

. Him

. They

. I and my friends play badminton in the evening. I and my friends enjoy playing it.
. We

. They

. Them

. You

. My best friend is Sonu. Sonu shares everything with me.

. You

. He

. She

. They

. Ms. Shalini is a classical singer. Ms. Shalini performs on stage.

I

. You

. We
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SUBJECT--PHYSICS
Multiple choice questions (Select correct one):

1. is the device in a vehicle which shows the speed with which a

vehicle is moving.



a) Odometer b) Speedometer ¢) Anemometer d) Galvanometer

2.The time period from one sunset to next sunrise is

a) Night b) Day c¢) Year d) Month

3.The National Physical Laboratory in New Delhi has a clock that can measure time interval
with an accuracy of

a) one tenth of a sec b) one millionth of a sec

¢) one hundredth of a sec d) one thousandth of a sec

4.The to-and-fro movement of a swinging pendulum is called

a) frequency b) time period c) oscillation d) amplitude

5.The time period of a simple pendulum with the increase in the length of

the string.
a) increase b) decrease ¢) remain constant d) either (a) or (b)

SUBJECT -CHEMISTRY
MULTIPLE CHOICE QUESTION( Select the right option):--

1.The mineral acid which is considered as a weak acid is

a) Hydrochloric acid b) Sulphuric acid c¢) Carbonic acid d) Nitric acid
2.Too much acidity of soil is neutralised using bases like

a) Sodium hydroxide b) Potassium hydroxide

¢) Ammonium hydroxide d) Calcium oxide

3.Too much basicity of the soil can be neutralised using acids like
a)Hydrochloric acid b) Sulphuric acid ¢) Manure or compost d) Nitric acid
4.Calamine lotion contains

a) Sodium hydrogen carbonate b) Zinc carbonate

c¢)Zinc oxide d) Sodium carbonate

5.Milk of magnesia contains

a) Sodium hydrogen carbonate b) Zinc carbonate

c)Magnesium hydroxide d) Sodium carbonate

SUBJECT: BIOLOGY
Multiple Choice questions



1. In which part of the cactus plant photosynthesis takes place?
A Leaf
B.) Stem
C.) Root
D.) All of the above
2. Name an aquatic plant, without any leaf is also able to produce food by photosynthesis.
A) Cuscuta
B) Fern
C) Algae
D) lotus
3. One of the element of which Carbohydrate is made up of
A) Carbon
B) Nitrogen
C) Phosphorous
D) All of the above
4, The jelly like substance which surrounds the ‘Nucleus’ in a plant cell is called
A) Mitochondria
B) Cytoplasm
C) Cellulose
D) Chloroplast
5. Which types of Plant synthesize nitrogen other than carbohydrate?
A) Sundew plant
B) Legume plant
C) Cactus plant
D) Cuscuta

SUBJECT -SST
Multiple Choice Question (Select correct one):

1.Which article in Indian constitution defines equality and prohibits any kind of social
discrimination?

(a)Article10 (b)Articlel2 (c)Articlel5 (d)Article21
2. The United Nation has declared 15 September as the International Day of

(a)yoga (b)non-violence (c)democracy (d)environment



3.The term ‘democracy’is derived from which of the following Greek words

(a)Demos and Casta (b)Demos and Kratia (c)Demos and Pocta (d)Demos and
Cratia

4.Civil Rights Movement was started in the USA against the injustice done to

(a)Africian-Americans (b)Africian-Canadians (c)Africian-Australians
(d)Americans-Australians

5.Religious identity can also led to

(a)equality (b)freedom (c)love (d)discrimination

SUBJECT --COMPUTER

Q. Multiple choice questions (Select the corvect one):-

21. Select the hibernate option from the ..,..... displayed

a. List b. Keyboard appears c. Both a and b d. None of these

22. Select the power saver option........ will become active

a. List b. Sleep mode c. Shutdown d. None of these

230 find and remove unnecessary files that you no longer need
a.Disk cleanup b. Sleep mode c. Power saver d. None of these
24......... disk space, helps your computer to run faster

a. Sleep mode b. Free up c. Power saver d. None of these

25. You can display two or more than two........ at a time

a. Aero b. Windows c. Both a and b d. None of these
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Daily Basic Assignment- Mathematics

Std.- 07 Date:- 08/05/2020 (Friday)
1) The whole number nearest to 457 and divisible by 11 is
a) 450 b) 451 c) 460 d) 462
2) If %3 and _%4 are equivalent rational numbers then x =
a) 3 b) 6 c)9 d) 12
3) If ;—? is expressed as a rational number with denominator 5, then the
numerator is
a) 3 b) -3 c) 6 d) -6
4) The rational number equal to _72 is
a) = b) 3F o d) 5
5) If the rational number _?2 and % represent a pair of the equivalent

rational numbers, then

a) 6 b) -6 c) 3 d) -3



